1/H-65 (i) (Syllabus-2015)

2017
( October ) -

BUSINESS ADMINISTRATION

( Honours )
( Quantitative Analysis )

(BBAC-102)
Marks : 75
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

PART—A

( Marks : 50
UNIT—I

| . . . . lati°n and
Distinguish . between popu

sampling? . 2424

data relate to profits

win,
(b) The follo gO frms during a yous

earned by 20

( Turn Over )
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(2)

Draw a %ess than’ ogive and a ‘more

than’ ogive :
Profits (in ¥ ’000) No. of firms
0-30 3
30-60 12
60-90 33
90-120 69
- 120-150 50
150-180 25
180-210 8

OR

2. (a) What is the relationship between mean,

median ang mode?

(b) The following data are the wages Of

workers working in two divisions of 2
firm .

Division A Division B
100 150
45 55

7 12

No. of workers
Average wage .
Standard deviation, .

. ) Calculate average income whe”?
- both divisions gre put together.
() Calculate

b standard deviation of

°th divisions taken together.

(i) State i, which'division the wage 1° 3
more variable, 2+3%

( Conﬁ"“e
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4

d!

(3)

UNIT—II

3. The demand for TV set as obtained by sample
survey on 7 towns are shown below :

Population X) - 14 14 17 17 21 as
(in "000)
Demand (¥) 15 27 27 30 34 38 46

Find the linear regression equation of Y on X
and estimate the demand of TV set in a town
of population 30000. 10

OR
L sen - positivé’ and
Distinguish betwéen - p .
4 @ negative correlations and between linear

and non-linear correlations. 2+2=4

ofl lain the four components of a

UNIT—III

5. (a) What is the difference between ¢ and

2
(o}

(p) 1If the universal set is given by
{12345678 9 10}

—_— =y T Y 5 o Y Ty, —

=
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(c)
(d)

6. (a)

(b)

()

7. (a)

8D/49

verify that—
@M (AnB)€ = A€ U BC;

(@ (AUB)C = ACA~BC. ' 4

What is meant by an event?

State the
probability.

addition theorem of X

OR

In how many ways can the letters of the
word ‘FAILURE’ be arranged?

In how many ways can 4 different books

be gj
b vg;ven to S persons, if one person may 9
more than one book?
If "p,.n+2
3: Py =5 . valué -
of 3 | 12, find the 4
UNIT—IV
If
NEBEE 12
*|2 10| ana B=| 30 }
0 -2 ar %
. 6}
Prove that (AB)T = BT oT o
: ugdw

(b)

8. (a)

(b)

9. (a)

(b)
' (d

8D/49

(5)

What is a singular matrix? Is
N'r1 2 0
A=[3 0

05

L N

a singular matrix?
| .OR

2+2=4

What are the  properties of
determinants? : o 4

Solve the following system of equations: ¢
) x+y+z=3
x+2y+3z=4
x+4y+9z=06

UNIT—V

Show that

x2 -8x+12

is undefined for x=2. o
T i .
Distinguish betweeq lim fl9 and fl@. o

Evaluate the following : . . 2x3=6
) pim £ o2
(i) ,3511 ) _,4x'-l.-3
( Turn Over )




(6)

9 9
(i) lim X =2
x=2 x-2

(i) lim &=L

x50 x

OR

.. dy ‘
10. (a) Find 2 °f the following : 0+2+3=7

() Yy=log (L’fx)
1-x

(@) Y=(x+2)(x2 +3)

i) x=3t 3t
1+t 1+t

() If the demang function is g=7-2P

find price elastic
stici d,
when P=1 ty (e4) of deman

" PART—B
( Marks : 95 )

11. What are th,e

; merits erits Of -
arithmetic mean? and demerits 5

12. Calculate the

following data :

Marks »

. 5 15 925 35 45

0. of students - . 5 8 15 16 6
8D/49

3.

(7)

, 13: Show that céi‘i'élaﬁoﬁ _coefficient (1) lies

between ~ 1 and + 1. 5
OR
14. (a) What are the uses qu index numbers? 3

(b) Write a short note on the uses of
regression analysis. 2

15. (a) Prove that "C, ="C,_,. »
() 1£9Cp,3 = Cs_3 find the value of r. 4
OR

16. In a basket, there are 5 mangoes, 8 apples
and 7 oranges. One fruit is chosen at
random. What is the probability that the fruit
is (@) mango or orange and (b) apple?  3+2=5

17. Define : , 2%+2Y,=5
(a) Identity matrix
(b) Orthogonal matrix

OR
2 0 -1 ) :
18. IfA=|2 4 -1, find A“.. <
1 -8 -3
(TumOUer)
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(8)

19. (a) Roughly sketch the graph for the )
function f(x}=x2, when -2 <x < 2 :
(b) Find the points of discontinuity of the
funétion '
12x% +6x-5 3
12x2 + x-20

OR

)
20. If total cost function is C=10+29+39%

find at what leve] of output average cost (AC)

will be minimum and what .will be thé

5
minimum value,

* & %

. 15)
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